22 Xl 13| R 3/30/2019
CHer AT 4835
t&Z SA

#7 THOlEt U2

1) 2O gi2|Mel Sof L|Tol|22t 5t= AR Ol /e L] soielel X[z Atet

2) 7} 2ol of|s=7H 2t A O|2 K| B H|0o4 R 2[7 42 StLEHEREH 241 M4Ql & otLtolct
StLtE ol B 7H StAIX| ofL|StAIH E 410 &StAl= Ol X2 ofF - & =+ eigolL|o|ct

3) o|==7H M CHE5to] O|2A|Z| FIAMZE FIAZ WA O|2L| AR O] 7S LIX| OfL|5tH
StLtE S| LIZE = = el et

4) L2 7} O|2E| AHRO| s o= H = UAZLIOI 5 Hm 2 EHOI| S0{ZICHIH S
= QUALSLEO|7

)04|—’.*—771|A-| CHESHAIE| ZIAZ RIAZ HH o|l2L| A0l 20t M3io 2 L} K| ofL|5tH
StLbE | Ligtoll S0i& = gi=Lzt
6) SR It A2 |0/ Yo = Lt A2 Yol
7) LHZL WA ASLtok sHZiCH 5t 22 =8 A 07| X] 2t
8) HiEo| &lol2 2 0f U7t I AEl= E0{% O{C|M M o{C|Z2 7t=X| & X| 5Lt
HESE U AR E CF a2t et

9) Lno2 7t CHE 5to4 0|2 &| o] 2248t Lol U = ULOl7k

10) oAl ~7H M 20| Al CHEf 504 O| 2 AlE| Li= O|ABIA S| MYz M o2 e HES LK
Rot=Lt

11) T2 ZIAZ A 0|Eh:I—| fEl= ol We Lotn 8 A SAst et 2Lt L1{5(7t
fElel 5E EX| ofL|st==Ct

12) L7t o] 2 L5toix Lﬁ°|7+ X[ otL|stHE St=H st=2| LS UotH of LA
I:II7-iI|_|__F

13) St=0M LHEd2 At 2 QIR 2lof= sh=oll 22tz X7t gLzt

=

1.2 o| LS Lol &z 29F SHE K},

mr
FI[I

2. L2 = o{HEh A RI7t? O2|1 of of|='5E &ottE=ETt?

3. =0l E0{7t= AEQ ZUE ol EH2 FAol2tn st=7+? (3H)

H



OF = Bl (BvwBev) -

LS 21t Mo 2 HEL}o Btohe
(B MI7] 2:7)

3t=2 7:37-39)

5. HEH 2 B 2|9l 3o &
Fodojetn Eetn A=7t? (det

FEo| AEE o{EH olstistETt?

0| ofL|2t Mol &
C|obM 5:22-23)



